20138 = =0l &t LEH 2AL ~ B2
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Odl

Ak
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M BN
3302 I Jsd(BH/BAHAR)
ool 20| 2Y CEERED
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
2244 5,911,060 4,904,450 1,006,610
=2 1,279,788
J| 595,846
& 809,075
= 3,226,351
23012 92012 JsZs(EH/EHYR) 2,972,764 2,286,547 686,217
= 1,168,983
& 292,246
= 1,511,535
g0/ 24 541,771 462,375 79,396
A BAHAX L &2 72,089 45,495 26,594
101 124 4| 13,469 12,095 1,374
4 JI12ZtH 22 HsEs 13,469 12,095 1,374
O8ad4, NAa, dgh FA22 22 38,880 x1H 2L +2100 & 1,633
O824 FUAY 29 11,836
—Jl=2= 38,8803 x 1 +200! 7,776
— =54 38,880 x 1 52 2,022
— X E 38,8803 x1H x15¢! 584
—4EE= 10,380, 960& *14% 1,454
201 L Er2 I 58,620 33,400 25,220
01 At 22l 58,620 33,400 25,220
OF=J] & 12,000
— 844, Na, dgs FI AU 40,0003 x25CH x 122 12,000
OFAN S AIAE FX 32,040
—EHA HSAAE SI(2AL) 150,000& x12& 1,800
—EAMN LSAAE FXN(BAXN L, BE D) 120,000& 2100 &+ 123 30,240
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fA:

SRS 2 ozl Jlsds(2A/BHAZ)
=E 2 29
SH BB SAEA) - HBAY - BAS e
O&ED| et zte| e 230,000& =123 2,760
O8A4, NAa &8I HEAA 120,000 *11JH A& 1,320
O824 N4, dgs Fgx Ha 200,000& * 1504 2~ 3,000
O& A &eldole |AX, 224l 150,000& x12& 1,800
OFEAMN 22AIL ctX2e| & AP 200,000& =128 2,400
OXsSHEMSI X et 300,000 1108 & 3,300
SSEHAL 22 27,390 27,390
201 L Et2 9| 990 990
01 At 2teltl 990 990
O3SEHAAN M= 45,000& 229 990
202 O Bl 26,400 26,400
01 2 LA YI 26,400 26,400
OSE2HYA 850l 100,000 »22H x12& 26,400
S &z MHA 423,692 377,490
201 L Er2F I 26,657 29,655
01 At 22l 3,105 2,655
OB2AHA, NA, dMgh S SALN NS 45,000 *55H 2,475
OJIIZHZZ2 X M= 45,000& =14 630
02 2222l 23,552 27,000
OdgZz ) RIAES 6,600
OdlgZz g2y 4,952
OSZI121 JI XM =2l 11,000
— B4, EANA, Agh 500,000& #2201 & 11,000
OgArd HHl RIS 1,000, 0002 1Ml E 1,000




A
X ZH -
=1

el

S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2

307 £12+0| & 397,035 347,835 49,200

01 A EYLRE 397,035 347,835 49,200
ONEE 2A%AE 7Y 324,000
—BANL 1,600,0002! *107H 4 + 122 192,000
—EANEL 1,000,0002 1174 £+ 122 132,000
Oczg 422 33,960
- 2L 1,000,000% * 12 12,000
—BANL 730,0002! * 122 8,760
—BAR2 4 100,0008! 1174 A =128 13,200
OZeXEA M2 2 6,375
- 28H 0= 15,0002 +225 % 3,375
—JIE2E 30,0002 %105 * 107 3,000
Ostgx2A 288 %X 7Y 1,500,000 * 12 18,000
OXa HE 7Y 800,0002! * 122 9,600
OYAA HE 7 5,100
—ga By 1,2009 +3,00024 3,600
— & &fcopy® (DR 1,500 1,000 1,500

oz HIle el 18,600 0 18,600

201 Y2 | 18,600 0 18,600

01 At 2l 18,600 0 18,600
Oz HIIE 9= Hel 17,400
—EAL, BANA 900,000 * 122 10,800
—BAN2 4 50,0002 #1104 4 + 122 6,600
OHl% 9igt Hel 100,000% * 122 1,200

2202 A&INH 2,430,993 1,819,834 611,159
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PRI 2B I s2EH(

el

X ZH
S =

B2

012 AL

SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
= T.168.983
& 292,246
= 969,764
sHEBAH2AZ MUIAINS AL (XHA) 627,517 409,624 217,893
401 Al & HI 2 2 0H 8] 565,517 368,024 197,493
01 Al & HI 565,517 368,024 197,493
OMBIEAR L MERX 2 (1,744m) 200,054,000& » 14! 200,054
O8IEAX A AERI F(1,891m) 136,464,000 14 136,464
Oeto 84X A E 39,449
— SHIA & E 122,400& »129m’ 15,790
—d&HJIE EA 183,400& »129m’ 23,659
OFEBAHN A E 60,550
— SHIA E EA 122,400& » 198 m’ 24,236
—A&8HJI8 A 183,400 » 198 m’ 36,314
OMEEHNA =8 L SEHSAM 40,000& =1,000m 40,000
OM=EBAHI A =ZSA 10,000, 0002 *3H 2 30,000
OXMEEHXN A 2HEE X 3,000, 0003 374 A 9,000
OBza, BAXA, BAXZ A AlE S22l (22004) 50,000
—8d4L 8,000,000 = 1JH A 8,000
—2ARL 2,000,000 =104 2 20,000
SR K= 2,000,000& =117 &~ 22,000
405 K& SHI 62,000 41,600 20,400
01 XA =S HSHI 62,000 41,600 20,400
Otls BHN A A28 FH 2 30,000
— OHOt 2| Xt 2,000,000 *2CH *3H 2 12,000
— SEIHE 1,000,000 *2CH 34 2 6,000
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=
PRI 2B I s2EH(
el

X ZH
S =

B2

Sa012 A&

SH BB SAEA) - HBAY - BAS Aro e HlmE2

—SHNEESD 2,000, 000& *2CH *3H 2 12,000
Odls BHX A 2,000,000 *1CH*34 & 6,000
Odls BHX & 12,000
— OF= Ol Xt 150,000 * 10«37 2~ 4,500
— 3|2 & oKt 50,0002 x50 *304 2~ 7,500
OUEEAHXN & ALR 3,000,000 *3H 2 9,000
OB2dXa, g 500,000 »1CH 1000 2 5,000

SHEE2H2AS MUIA HE ALY 1,803,476 1,410,210 393,266
= 1,168,983
& 292,246
= 342,247

401 Al & HI 2 2 0H 8| 1,803,476 1,410,210 393,266
= 1,168,983
= 292,246
= 342,247

01 Al & HI 1,767,560 1,375,700 391,860
O3t AMd 1,767,560
— NGEHR L MFS 544,320,000& 544,320
= 362,880
S 90,720
= 90,720
—YIEAHXL MNFS 544,320,000& 544,320
= 362,880
= 90,720
= 90,720
—E38HNL =XUHE ZHAE 50,000, 000& =14 50,000
—SRABHAN L MS3A 544,320,000 544,320
= 362,880




SH: AL
Ha: 22D 92| JsdsH(EH/BAHOZ)
G BA012 AEIE (e &
S EB O (3H) - NEAY - BAS Ol Ak o8 %*lif{of" HRE2
== 90,720
= 90,720
— NOIEAHAX A AEBA EHESE 28,200,000 28,200
= 18,800
== 4,700
o 4,700
—HIPAHAX A AESSA EHES 28,200,000& 28,200
= 18,800
== 4,700
= 4,700
—SHBAIN A AESZA EHESE 28,200,000 28,200
= 18,800
== 4,700
o 4,700
02 2eltl 20,070 25,080 A5,010
O=ZHIEBEZAIY 20,070
— NOIEAX A AEZBA 2224 6,690,000 6,690
= 4,460
== 1,115
o 1,115
—HIBAHAX A AESZA 22124 6,690,000 6,690
= 4,460
== 1,115
= 1,115
—SHBAI A AESZA 2224 6,690,000 6,690
= 4,460
== 1,115
o 1,115
03 Al 2 CHHI 15,846 9,430 6,416
O=ZHEBXZ ALY 15,846
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834,375
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65,473
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g
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188,732
73,466
29,118
86,148

293,867

A 105,135

Ol=0t & AdHA0l&0 2ZHl K&

S
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20,568
10,284
5,143
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11,488
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Sk
X ZH -
=1

el

0l &+ o

HET
Off &t 4

X

34,533
34,533

307

X

69,066

34,533
34,533

46,460

22,606

01

69,066,000&

Il

M

69,066
69,066
69,066

34,533
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46,460

22,606

9,000

3,800

5,200

1,000

1,000

1,000,000 12|

1,000
1,000

1,000

8,000

2,800

5,200

Ol

8,000& *1,000& »13]

8,000
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[ee)
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,000

2,000

01

[¢]

400,000 «5&H

H

000
,000

,000
,000

[NCREN AR SRR AC T BN \C T G T B\ G ]

2,000

fu

14,000

10,000

4,000




SARAL
Hu: HOE BAS B ALBI(2A/AR)
ool =9 mad o2 (ol @)
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
307 212t0| & 14,000 10,000 4,000
01 A2 RS 14,000 10,000 4,000
ORQAIEX o284 X 400,000 *35% 14,000
HASS HHY IRI SEHTAY 16,800 11,600 5,200
= 8,400
2 8,400
307 2I2HOI & 16,800 11,600 5,200
= 8,400
2 8,400
01 2R 2| 16,800 11,600 5,200
OZHI2EAY 16,800
— S HYUNRI, NRAZ Rl X R 16,800,0002 16,800
= 8,400
2 8,400
DIYEEBRIAY R W20 DEE (FNTP) 3,000 3,000 0
p 1,500
2 1,500
201 Yer2 | 3,000 3,000 0
p 1,500
2 1,500
01 At 22| 3,000 3,000 0
OJI22EAY 3,000
—®20 N8 2 3,000,000 3,000
p 1,500
2 1,500
ROt 2XE HHIA 193,066 362,394 £~ 169,328
p 47,982




SHBAL
FE: HoF FaEs e ALSI(BEH/BEA98)
el ZHOotote 2 X MHlA (&)
XN L=
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
= 25,672
= 119,412
Moter et xtatel 3,386 3,344 42
Il 1,692
= 847
= 847
201 L Er2 I 500 500 0
Il 250
= 125
= 125
01 At 22l 500 500 0
OJIa2=md 500
—Motgetiae =25 #2 500,000& 500
| 250
= 125
= 125
307 glz2tol & 2,886 2,844 42
| 1,442
& 722
= 722
01z =l 2,886 2,844 42
OJIa2=md 2,886
—MHorgsi2e =57Y 2,886,000 2,886
Il 1,442
= 722
= 722
2 o=z4l KA 92,580 75,012 17,568
| 46,290
& 23,145




M BN
Ha: 4OE HAS SIS AVS(2A/2AAR)
el ZHOotote 2 X MHlA (el =@
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
s 23,145
307 glz2tol & 92,580 75,012 17,568
Il 46,290
= 23,145
= 23,145
01224l 92,580 75,012 17,568
OJI32x=md 92,580
— 2 2=l 92,580,000& 92,580
Il 46,290
= 23,145
= 23,145
UESY URHLZMA-L22AS A (ZH]) 1,950 4,620 A2,670
= 980
= 970
307 glz2tol & 1,950 4,620 A2,670
= 980
= 970
01 2 E2¢ 24 1,950 4,620 A2,670
OZHIEZAY 1,950
—24E2ASAE 2=d N € =5+ 1,950,000& 1,950
= 980
= 970
SAIA HASMA 2E(SHI) 1,400 1,400 0
& 700
= 700
301 LEtB A F 1,400 1,400 0
& 700
= 700




of

"
&
0J
i
o1
<
H
~
J
H
KJ
Klo
~0 AI_
|_||_ D
N~z
o)
!
F =
om nd
20 of
00 I
HRUA
& ol S
H &8 R
X &l oF

o o o o o (]
o o o o
®|®|S ®
M. <
|
Klo
El
=)
o o o o o o
o [e6) [06) [e) o o
= Clel«e < <
- =l | - -
H3r
L]
KIS
o o o O O o o o o o o o o o o o o o o o o o o o o
o o o O O [e6) [e6) [e) o [e6) o o o o) Y] o o w [Ye) o o o o o o
S ESRF|Ela|le s g B @ - 86 T 8536 6|S
—_ - - ~ S |w o — [TolNeN] — o\ — — —
ar
<
=
W
i W o © GG o T o o ol
o [aV] [aV) — — Y] [Te] Y] o) Y] Te) [e\] —
o — — * x x *x x x *x X x x
< xoox M o B0 B0 oF B0 B0 30 B0
) w80 oS o S o o S o o o o
(=] o [aN) o o o [eN] [a\] o [eV) [e\] o) [Te)
< o x o o o x x () x x * x
—_ S W o o o M o o o o of of
o (@) o o o o o [ep] o o o o
[Te) () Ye) [Ye) o o o o o o
NS S S S s S8
o Yo} Yo Yo} Yo Ye] (=]
[N — — —
or
0
Bl
ol
=
I+
z
= 80
io} Rr 0K
oF _ g < M__
uy m_mo = W " 80 o
. a B0 @0 piy = O =
. i o W K =
w_l _ ™ " il =)
RO ok Ymoww W M i
. I K ow o A K it a0
o a0 o O Ly 70 3 w H w O U
B |moa M mm mm a1 m 5 o0 T "
0 = < < woe o B WS ™ oo
M K3 T |D © ™ O T I+ TR TR H M0
T M <l _|®|m M H = U B R X H T B X H T M oI W
A T o Uy | I IS A A MM S MmN IS
= W Alsjor RORORR &= | | | R | | | &R | | |3
w0 O Zla|x O O O O & O O O ol
S WS | s S S
LN ™
=
=




4]
"
oF
uJ

A |

!

o o o o o
o) o o (@) o
© |l v DA I
w | <4 il
A0 < 4 1<
Kl0
El
&)
o o o o o o o o o o
o o o o o o (@) o Y] Y]
< el NN A R @
— O © o < < Y] [Te) o (@)
© — | = S
H3r
<)
RIS
o o o o o o o o o o o o o o o o o o (@) o o o o o
o o o o o o ') o o o o o o o o o o Y] Y] Ye) o < o O
(e} o (e} (e} (e} (e} (e} N~ [ N~ N~ o o o o o o (ep] ™ [e)) © [aN] (<o) —
- — —|lo|lo c|lw|®w|l®w — - d A|—-|- -~ —|o|O © W © —
<t <t < —
ar
<
=)
0} ofl K0 oy o] R o = W
= o S =4 9 N ¥ S8 N
x x g x B0 S W ¥ =
30 Fa)() — 3] > S & 2
o o x o I ¥ 5 H o
< 2 ko S x W X 8 8
= > o) - o s ® o =
op oF) X o o S o )
o o I_._ o o o o (e} o
S S Ok N S - O
< < = ; ~o
or
X0
Bl
3l
=
i/
=
. 30
= ]3]
oy < m
= E it
e 3 - to
pral i - 00
0J = 23
= o0 . = ok
. ] = = uo = ulo
il = = ol or
R0 - ) 10 I3 <R
. = o) o 2 < R
= S 5 = M oF A0 o
jijg W__E = ujo = IR AR
= W ol [2)] < I Bl
= W < - |D M| no TH < i TR 1
o) RIIF R 30 | Ho | <o uw | = T oy o
~ S oKk~ 0 | 7 | M = |3 |ok 0 o~
= YRR L= o) | Ok | | oJ | |~ | 1o I
O gl |[o1 O ol | =< all al o1 O
~ | — — | — — ~ | —
o o o o o o (@)
™ [aV) ™ o




SN AL
M solN BAS S AYSH(2A/2AAR)
Sol: ROPHE 2XE MHlA (ctol: &2
= = & E
2EA-EFH-A(SA) - NRAY - BES Oi &4 ‘Oﬂ,‘qﬁ Hus2
—BU2HSAA 2 45,0002 +30S 1,350
—JlBARE(2BES)PY 20,0002 * 105 +103 2,000
OMIYET 22 2 3,400
—ggal Y 1,5009 +1,800% 2,700
— Dt E TSR 10,0008 700 700
O85KI 01 4 A2 22| ALY 18,000
-223¢ 15,0002 *600% *23] 18,000
UESL2AY2I AL (R 30,720 16,500 14,220
101 ©124H| 30,720 16,500 14,220
04 JIZHH2ERSE 4 30,720 16,500 14,220
OJI2tH 22X SHH2EE ASIHELE(8Y) 170,0002! +8% * 122 16,320
OJIZH 28X LS, &3 oYl S 14,400
— BB F O 60,0002 *82 %102 4,800
—ZHEF O 100,000 +8% * 128 9,600
ALBTAY 223,041 263,054 £40,013
p 29,167
= 160,677
2 33,197
dypel ZRIH 2Y 16,520 20,720 £ 4,200
201 YBr2 A H| 10,500 6,300 4,200
01 At 22l 2,100 6,300 £ 4,200
OAYB2 T2 2B52Y 100,000 *21H Ot S 2,100
03 & AH2 2t 8,400 0 8,400
oLl TRIY VAR X2 40,0008 *2174 O} Z 103 8,400
202 04t 2,520 2,520 0




A
X ZH -
=1

el

Off &+ o4

fEle=
Ol &t o

10,000& »21JH Ot =+12&

2,520
2,520

2,520

3,500

3,500

3,500
3,500

3,500

S

Mo

56,453
28,227
14,113
14,113

88,000

307

(m]

N

S

Mo

56,453
28,227
14,113
14,113

88,000
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o
0
U

> =

bl

O
AS]
Hoou
e
FA
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]
Q
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=
rr
I
10
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Rl

56,453,000&

S

M H

56,453
56,453

56,453

28,227
14,113
14,113

88,000

Mo

4,188

2,094
2,094

307

A H

4,188

2,094
2,094

01

4,188
4,188
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el

SA B SA(BH) - MEAY - BES

Off &+ o4

afE
0l &t
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Jn
Ol
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—=
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o= Hl

4,188,000

Mo

4,188

2,094
2,094

A

rr

8 A

[l

H
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1%

H

144,000
144,000

144,000

307 21ztol A

H

144,000
144,000

144,000

1,500,000& x8H x12&

H

144,000
144,000

144,000
144,000

144,000

X EEAMF A

1%

S

H

1,880
940
470
470

4,300

N2,420

307 21ztol A

S

H

1,880
940
470
470

4,300

N2,420

o1z
=
2

1,880,000

S

M H

1,880
1,880

1,880

940
470
470

4,300

N2,420

S

330,732

9,166
38,439

376,622

A 45,890




M BN
B HOE BAS 9IS AYBT(LA/BAAR)
ol AVZE MEAY =EERT
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
= 78,409
= 204,718
HALASE ALY 99,878 94,758 5,120
101 @1 24H| 15,120 0 15,120
04 JI2HH 22 RS ES 15,120 0 15,120
OJIZtNZE2X 50 B8 2 MEX REEE(4Y) 165,000 »4H 128 7,920
OdZeld ol 7,200
—ZUWEE0H 100,000& x4H 123 4,800
—ZA=F0HHI 60,0003 x»4H 10! 2,400
201 L Et2 | 27,790 77,790 A 50,000
01 At2 22l Hl 5,000 15,000 210,000
OHLSEAYE & 2RAEAMY 222 7Y 5,000
—HLEN EE2E FY 1,000,000& *33] 3,000
—AASIMY NNz HME 500& *4,000% 2,000
03 & Ar2 Z dl 22,790 62,790 A 40,000
OUHLSTAY A 2FH 22,790
— AL SHWA (YL U BFS)29H| 500,000& 43| 2,000
— A=W A 2| 35,0002 258k x 13| x 123 10,500
—HL2S8 C0/HIOZ ¢ 6,000& x2550t = 1,530
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117,400

A 400

117,000

117,400

A 400
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m
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e
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ro
e o
e
=
In
o

b

e

0R

O
2
0L
0%
O
b
Hd
Oft

2L (H2AS)

4,000& 1,000

4,000& *100&
8,300& 2,000
8,000& x11,000&
4,000& 1,000

400,000& x10&

117,000
113,000
4,000
400
16,600
88,000
4,000
4,000

117,400

A 400

é
0%
it
=
1K)

J

o]
N

S

Mo

209,433
102,387
51,193
55,853

89,807

119,626
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SA B SA(BH) - MEAY - BES

=z
12

afE
0l &t

101 /24 4|

S

M H

26,215

10,778
5,388
10,049

22,755

3,460

—RIAHAAZ2Z N SHEERZE MBI BY
— 2RI AHAA2 2N S2HOH S

—RIAA2Z N HEFOH

AL

21,555,000&

150,000& » 12« 1204 &
100,000 1& =121 &

1,660,000

S

H

26,215
26,215
21,555
10,778
5,388
5,389
1,800
1,200

1,660

22,755

3,460

307 21ztol A

S

H

183,218
91,609
45,805
45,804

67,052

116, 166

141,750,000&

40,728,000&

740,000

S

H

S

M

183,218
183,218

141,750

70,875
35,438
35,437
40,728
20,364
10,182
10, 182

740

370

67,052

116, 166
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M BN
BE: A Y 2A(2A/2A2)
el 2y oy R
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
= 185
= 185
2 147,446 144,562 2,884
101 I244] 57,621 51,737 5,884
04 JI2HHZ22 RS E> 57,621 51,737 5,884
Ooggas o=2¢ 57,621
—JlE= 38,8803 x13& 100! 50,544
—4EH 50,544,000 »14% 7,077
201 LEr2F I 3,175 3,175 0
01 At 22l dl 675 675 0
ogdolg x| & 2R 45,000 *156H 675
02 2324l 2,500 2,500 0
OYgAEHl 2l 100, 000& *25CH 2,500
206 M =4l 83,900 86,900 A3,000
01 =4l 83,900 86,900 A 3,000
Ogolotz gl 36,000
— &FH 30,000& +800¢ 24,000
— &2 A 5,000& 3004 1,500
—S&7HE 75,000& 1004 7,500
—ZHE 3,000& *1,0004 3,000
ogd) &% ¢ 38,900
—-3% 1,750& x20,0004 35,000
— ez 1,950& *2,000¢4 3,900
Odi =20l A 4,500& *2,000All CH 9,000
405 X+otE S| 2,750 2,750 0
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SHBAL
FE: Y oYy 2A(BA/B2AH9E)
ol Aoy GlUES EEE-T)
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
307 g1z2tol & 14,000 14,000 0
04 QI2HHALE & 4,000 4,000 0
Ostdlold A 29 2,000, 000& *2JH 2 4,000
05 It &t = 10,000 10,000 0
Ostdld 22| 10,000, 000& *1JH A 10,000
stelg Xt2tel X 80,904 65,622 15,282
= 40,452
& 40,452
307 @I2t0| & 63,216 65,622 A2,406
= 31,608
& 31,608
02 It &8 X 63,216 65,622 A2,406
O=HIEZ AL 63,216
— SO Y28 2 AN 63,216,000& 63,216
= 31,608
< 31,608
402 QI2EXH201 M 17,688 0 17,688
= 8.844
& 8,844
01 QIZEXt2 8 X 17,688 0 17,688
O=HIEZ AL 17,688
— St LY== JIsEY 17,688,000 17,688
= 8.844
& 8,844
StMICITIGH AL TIcHAt MEX23 X At 36,000 0 36,000
= 36,000
307 2rztol A 36,000 0 36,000
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SHBAL
FE: Y oYy 2A(BA/B2AH9E)
ol Aoy GlUES =EERT
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
= 36,000
01 g =l 36,000 0 36,000
OSHMIQITIGHALA HIGHA MEX & ALY 150,000 »20H » 12& 36,000
= 36,000
ZEE oY A A4S 56,200 56,200 0
307 21ztol A 56,200 56,200 0
0192724l 56,200 56,200 0
OdHHAY 45 29 56,200
— ANSPY 1,500, 000& = 12& 18,000
—JI A 2 700,000& 128 8,400
—StME MEMHE 7,000&*1,000 7,000
—LdIESE S 2285 7 800,000& 128 9,600
— AR E 2 A2 2/ ] 500,000& x12& 6,000
— A EZE Y Z A 600,000& x12& 7,200
Olol=2 o 4,800 6,116 AN 1,316
J| 2,400
= 100
= 2,300
307 21ztol A 4,800 6,116 A 1,316
J| 2,400
= 100
= 2,300
01 9 2¢ 724l 4,800 6,116 21,316
OJIZEZ AL 4,800
— OOl =& & Al 2| 4,000,000& 4,000
J| 2,000
= 2,000
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ool 2y Hues CEERED
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
ounlolxs & dgue 222 +¢ 5,000& x2004 1,000
NGt A2 XA 1,500 1,500 0
Il 1,050
= 450
307 gIz2tol & 1,500 1,500 0
Il 1,050
= 450
012724l 1,500 1,500 0
OJlIs2xsmd 1,500
—NEHHd=ZXNE 29 1,500,000& 1,500
Il 1,050
= 450
=otZ s A 13,892 22,124 N 8,232
Il 6,310
= 3,537
= 4,045
201 L Er2F I 5,000 0 5,000
Il 2,500
= 1,250
= 1,250
01 At 22l 5,000 0 5,000
OJI32x=md 5,000
—afbsdze BEH S 5,000,000& 5,000
Il 2,500
= 1,250
= 1,250
202 O Bl 2,400 2,400 0
Il 1,200
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SM: AL
a2y oY 2A(2A/2A2)
ool I ME oA (69 &2
= = & E
2EA-EFH-A(SA) - NRAY - BES Oi &4 ‘Oﬂ‘&ﬁ Hus2
01 At 22l 3,500 7,150 A 3,650
OACIAED 222 7 2,0002 *1,7507H 3,500
MBI MOIH (B2 /A B FOIH) 17,500 17,842 A342
= 741
= 16,759
MEMOIF U BEYA 2 17,500 17,842 A342
= 741
= 16,759
NE QoA Bl 14,300 16,300 A2,000
201 Y2 H Y| 9,900 1,400 8,500
01 Ak 2relt| 9,900 1,400 8,500
o+ (28)gys 22 7,500
—9M= U HoELE S 7Y 50,0002 52 307 2 7,500
OTMMAIR BAMWL AlHAL 1,000
—SM8E Py 10,0002 * 10004 2 1,000
OAMS L M2 L OFASET S A 7,0002 %4 ¥502 1,400
202 01 bl 2,000 2,000 0
01 2ot bl 2,000 2,000 0
OSIMeis NEEY 20,0002 ¥2 *502 2,000
206 T 2t 2,400 12,900 £10,500
01 T 2t 2,400 12,900 210,500
SENE Y| 2,0002 ¥20021 *67H 4 2,400
TEAMAL 2l 800 800 0
301 YPR A 800 800 0
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200,000 *11H A +123

150,000& 12
30,000& 1090 A&+ 128
20,0003 x 1100 &+ 128

1,750 #60L *4Al 2t+1002
1,400& *1.72 *6AI 2t+20H«1002 x100H 2
1,400 %2.08 *8AI2+*1202 1100 &

4,750,000 ~5CH
3,400,000 = 1CH
3,430,000 104
3,460,000 = 1CH

465,000 «8CH

350,000 =504
110,000 = 1CH
100,000 = 1CH

40,000 «3CH *22]
50,0003 » 1101 23
300,000& 12

40,000 * 122« 110H &
8,000 « 128 «110H &
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02 H

M ox rY
0¥ M0 B~

02

22A4)(OI8H/IIEH)

U
=

A(SIH) - HEAY - BES soy e

OogdA 50,000& 128 1101 & 6,600
ogHd 50,0003 x 128 1100 & 6,600
A2 S 8,800 0
(OFSE=FEA 200,000& »43] 1101 & 8,800
o4 bl 112,200 112,200
=W 112,200 112,200
O&Uodtl 120,000 «55& x12& 79,200
OZ2 Kl 75,0003 x55H 8 33,000
R E Y| 7,900 8,140
M H R 2,200 2,200
OZ At R =& 40,0003 «55% 2,200

04 EA2IHRFAH 5,700 5,940
ORN2EYRFIH| 475,000& x 128 5,700
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